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Traterfiga fore v wRa 31T 2
[ eTHEq

1I. EABIG]
M. B9

In which order did the following come to

India ?

L Thomas Roe

II.  Fa-hien

III. Hiuen-Tsang

(A) LIL I (B) II, L III

(C) IL I I (D) HLLII

e~ - reT Fore g i SIS & T

I UT?

(A) TR (B) ToITE

(C) efugar (D) T8 & i3 T

Siraj-ud-daula was defeated by British in

the battle of :

(A) Buxar (B) Plassey

(C) Wandiwash (D) None of these

0 A B geY A’ T et THdH AT 2

(A) WSSl  (B) e S

(C) s fia (D) e g™

Who among the following was the great

protagonist of the ‘Doctrine of Lapse’ ?

(A) Lord Wellesley

(B) Lord Dalhousie

(C) Lord Minto

(D) Lord Hastings

AT 3femd 8§ gaadl i 9 2

(A) I 9 o Tfeg AT

(B) <= farshmfeesr <ht @ <hl genfra
T AT TG Fafeheaeh

(C) &Y % THT o Ueh TG AehhR

(D) 9 | I T

In Indian History who was Dhanvantari ?

(A) A famous general of Chandragupta

Maurya

A noted physician who adorned the

court of Chandragupta Vikramaditya

A famous dramatist who lived

during the time of Harsha

None of these

(B)
(©
(D)

GAMMA21

HrRfehTefH a6 ferawor areft <sfeer
NICERE

(A) WS (B) WEIM

(C) = (D) 78 & hig e
“Indica” which is an account of Mauryan
India was authored by

(A) Megasthenes (B) Fa-hien

(C) Hiuen-Tsang (D) None of these

A IR fohe a8 YRA H 99 o) 37T ?
The Simon Commission first visited
India in the year

(A) 1925 (B) 1926

(C) 1919 (D) 1928

TR T wum grn foem arfeasm o
tfiETies “qul WS (P SaadT) &

AT 9T TR TR 2
(A) =g (B) WMER
(C) hIr=ht (D) G

In which session, the Indian National
Congress passed the historic “Poorna

Swaraj”  (complete  independence)

resolution ?

(A) Bombay (B) Lahore

(C) Karachi (D) Lucknow

Tt =1 fireT =i

a. FieTA AvEe Al 1. ST Sedd

b. X Uref 2. QuTSES 9"

c. T em 3. 1.2 "EE

d. BHEA 4. THEEE

Match the following :

a. Indian 1. Lala Hardayal

National Army

b. Ghadar Party 2. Subhash

Chandra Bose

c. Mitra Mela 3.
d. Home Rule 4.

V.D. Savarkar
Annie Besant

League
a b c d
(A) 1 2 3 4
B) 2 1 3 4
< 3 4 1 2
(D) 4 2 1 3
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10.

11.

12.

=1 o o foraa gt meft % Raemea
I 8 & o1 forie feparm 2
(A) @M 3Tegel THERR TH

(B) WhIcIel &b
(C) Hrgwg 3reft for=

(D) YA ™ TG

Who among the following opposed
Mahatma Gandhi’s association with the
Khilafat movement ?

(A) Khan Abdul Ghaffar Khan

(B) Fazlul Haque

(C) Mohammed Ali Jinnah

(D) Abul Kalam Azad

TTH Y DI HT ShIfAhRI TS HThI ST
ohd | ST o 2
(A) LUt

(B)  3rgeficr wiwtd
(C) NS WRA I

(D) Tergwam fdfectena TaIfwsH

Which of the following revolutionary
groups was involved in Kakori
Conspiracy Case ?

(A) Ghadar Party

(B) Anushilan Samiti

(C) Abhinav Bharat Group

(D) Hindustan Republican Association

ARG AR &7Y fohg T a8 7
(A) TerEd (B) s
(C) (D)

The Nagarjunasagar Dam has been built
across the river

(A) Godavari (B) Krishna

(C) Ganga (D) Cauvery
HIE TR T TUH IR ISTS ohd Y hl
T ?

The Mt. Everest was first scaled in the
year

(A) 1951 (B) 1953

(C) 1955 (D) 1958

13.

14.

15.

TAqL | feora veft a1 /g 3em
am g

(A) OIS IR

(B) <l IRy

(C) hadlTed I UL 3™

(D) HTHHT AHIRTY

The name of the bird sanctuary/national
park at Bharatpur is

(A) Bhensroadgarh Sanctuary

(B) Darrah Sanctuary

(C) Keoladeo Ghana National Parks
(D) Ghatprabha Sanctuary

TSS9t G9F o I8 319k 1 Eld 3
(A) ToAI-TSET  (B) ohREl

(C) 3HfEn (D) TSHIGE
The source of iron ore for Bhilai Steel
Plant is

(A) Dalli-Rajhara (B) Korba

(C) Umaria (D) Rajnandgaon

prepp

few U <t 3R 3% TIHI 1 S @1 e
TS 7
1. Sifer s — S0 3R el

2. SR ATI=E AT 3R

bt e - SR
3. gmmar, Sifd am

N
4. 1Y AT IR S A1 — Tafaw
(A) 132 (B) 233
(C) 334 (D) 1,233

Which of the following passes and
locations is/are wrongly matched ?

1. Zojila and — Jammu and
Burzil Kashmir

2. BaralLapcha  — Uttar Pradesh
La and Shipki
La

3. Thaga La, Niti — Himachal
Pass and Lipu Pradesh
Lekh

4. NathuLaand - Sikkim
Jelep La

(A) land2 (B) 2and3

(C) 3and4 (D) 1,2and3

GAMMA21
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16.

17.

18.

19.

fortren S@H o worearsy st faw 4 gfg
&+ 3rferes GureaT Bl 2

(A) SN

(B) IRAI <l HiTd

(C) TS dSht W Irgmia wnfed

(D) AfedTd X

Private investment will be most likely
to be increased as a result of a rise in
(A) The rate of interest

(B) The price of shares

(C) Expected yield on new capital
(D) Personal taxation

AR h! THT AT T HATehai i dTedt
LI

(A) ITR.&1.3TE.

(B) Hifa st

(C) fore wTeT

(D) 1T TifeTeh! T

The agency estimating the National
Income of India is

(A) RBI

(B) NITI Aayog

(C) Ministry of Finance

(D) Central Statistical Organization

T &1 1 gEY AT FT 2 2
(A) Tk (B) wrufires
(C) focfrr® (D) F

What is another name for the Service
Sector ?

(A) Tertiary (B) Primary
(C) Secondary (D) Agriculture
AR | FoId ShTfd o Seh  ® H i
AT R ?

(A) FAIATI TET

(B) @l g HiEA

(C) TUH.TH. WHHIYH

(D) tHA Teant

Who is known as father of White
Revolution in India ?

(A) Balwant Rai Mehta

(B) Dr. Verghese Kurian

(C) M.S. Swaminathan

(D) Norman Edburg

GAMMA21

20.

21.

22,

A | 3T FER 1991 % SR Jemest
Y ?

(A) & Ty e

(B) 37 fergrt arstusht

(C) . wvred &g

(D) ¥ & i3 &

Who was the Prime Minister during
economic reforms 1991 in India ?

(A) P.V.Narsimha Rao

(B) Atal Bihari Vajpayee

(C) Dr. Manmohan Singh

(D) None of these

WA < H99H § 310 9 =1 T g |
aferferd T 8 2

(A) i

(B) I 3R e

(C) S«

(D) &Ug Hisha dfeelt

Which one of the following is not

included in the state list in the
Constitution of India ?

(A) Police

(B) Law and Order

(C) Prison

(D) Criminal Procedure Code
freforfiea ® & . e dfqam i ger
fereryar i 8 2

(A) e GEf EGET

(B) Wideig =Im=ra=

(C) i o ferawor

(D) ToiRaa afaem 3t e < garear
Which one of the following is not a salient
feature of the Constitution of India ?

(A) Quasi federal structure

(B) Committed judiciary

(C) Distribution of powers

(D) Written Constitution
Supremacy of the Constitution

and

A

prepp
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23.

24.

25.

= O 9 @ v AETiEnt w3
T YEH T & ?

(A) Hiferes arferepR

(B) Hifctes ohiex

(C) Ty ifa & Frewres fagra

(D) T8 T IS &

What ensures economic justice to Indian
citizens ?

(A)
(B)
©)
(D)

WRAT "9 %1 ®F d1 FAfess T
TN 1 UTH GGl o 3T & fou
Fefa s 2

(A) IT=BS38 (B) 3ITI=8< 40
(C) W5 44 (D) TG 46

Which Article of the Indian Constitution
directs the state governments to organize
village panchayats ?
(A) Article 38
(C) Article 44

Fundamental Rights

Fundamental Duties

Directive Principles of State Policy
None of these

(B) Article 40
(D) Article 46

F-wlw =R 09 e #1 fER
fraa @ o 2

(A) Sotdd T Hgdl A

(B)  3T3MIeh HgdT il

(OERE TN

(D) 3T 4 HIg &

Who had proposed the idea of three tier
Panchayati Raj System ?

(A)
(B)
©)
(D)

Balwant Rai Mehta Committee
Ashok Mehta Committee
Royal Commission

None of these

26.

27.

28.

29.

30.

fersteft =1 waTg wfche o wa BT ? 2
(A) fea = E ™

(B) fEmegaEM ™

(C) TEamaea AR e W

(D) 39 1S dreesl T& gl
Current flows in a circuit when
(A) A switch is opened.

(B) A switch is closed.

(C) The switch is either opened or closed.
(D) There is no voltage.

gfea H SIS FT R ?
(A) W= (B) g
(C) de (D) UfERR

What is the S.I. Unit of resistance ?

(A) Faraday (B) Ohm

(C) Volt (D) Ampere
e 1 @2 Wie 3 9 Tepweh! Sufedfda
% I BT & 2

(A) dEfesma (B) THIGH s
(C) IHAfeifctsh 3T (D) HitHh 30
Sour taste of lemon is due to the
presence of which of the following ?

(A) Citricacid (B) Acetic acid
(C) Oxalicacid (D) Formic acid

THehesiTeh W 9 2l @
(A) TE@TM (B) HYHE
(C) & (D) AT (3T%H)

Carcinogenic chemicals cause

(A) Heart diseases (B) Diabetes

(C) Cancer (D) Asthma

1 ol HU Helg FAT HEATd! & 2

(A) 3T (VEree)

(B) 3fferen (Tfursfiia)

(©) = (sfiw)

(D) Tafyrs =t (wfsre sfiw)

Name the upper layer of the skin :

(A) Endodermis (B) Epidermis

(C) Dermis (D) Special Dermis
GAMMA21
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31.

32.

33.

34.

gfe (1+2—7j=(1+ijfﬁx3h"lrﬂ'«[%:
169 13
If (1+£] = (1+i], then the value
169 13

of xis:
(A) 1 B) 3
<) 5 (D) 7

37%13@1%@%%?
(A) 300
(B) 400

(C) 500
(D) Truffca 7 ot Tehd

How many % ’s are there in 37% ?

(A) 300
(B) 400
(C) 500
(D) cannot be determined

[ 36.1 _9
102.4

29 19
A B -
19 29
© 3 D) =
T TEX hl SHHET | 4% i a1k Jhg

gﬁ?ﬁ%mwasm%%am
T T Wi STl 8 | o 9t ghg w1 e
FATEAT ?

The population of a town increases 4%
annually but is decreased by migration

annually to the extent of %% . What will

be the increase percent in three years ?
(A) 9.8 (B) 10
(C) 105 (D) 10.8

GAMMA21

3S.

36.

37.

38.

| 39,

40

13 TfoTmT 7 3MEd 68 B | T8t TTd I
3T 63 & 3 IR T1a <61 30 70 2,
1 TTde ST IO & —

The average of 13 results is 68. The

average of first seven is 63 and that of the
last seven is 70, the seventh result is :

(A) 47 (B) 65.5

(C) 73.5 (D) 94
e 1§ 9 “dien o1 faeim wse R R ?
(A) (B) gm

(C) wmh (D) Ffozd
Teleed’ &1 TaFaT= 8

(A) T (B) WG
(C) Tomfd (D) fory
‘iel § W g’ 9T o foiw = feu o
forsheq ® | T wIsg gAY

(A) Hh

(B) ferehimt

(C) Ferer

(D) heehTehIvl

QY 1 gY 3T AT ST AT AT HETeR 3
HAIR

(A) g9 3HIERTEMT

(B) THa-Seret &

(C)  weguTaqut ot e

(D) 3fura frofe e

g Tt 1 T HIFAT |
(A) EHR
(B) WIEg&hR
(C) wiEshR
(D) dgeh

Prepp
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Directions : Read the passage carefully and
answer the corresponding questions : (41-43)

I climbed into bed and rolled myself in my
blankets, first extinguishing the light that
burned steadily near the door. I lay still trying
to get to sleep but my fear made that
impossible and soon I sat up in bed peering into
the darkness and occasionally glancing at the
round window in the side of the ship which
seemed like a plate suspended in the darkness.
For an hour I must have sat like this, and then
I was suddenly roused, by a drought of cold air.
I jumped out of bed; not having allowed for the
motion of the ship, I was instantly thrown
violently across the room.

41. The author sat peering into the darkness
because

(A) he had put out the light.

(B) he wished to see the window.

(C) the window had looked like a plate

(D) he was afraid.

42. The author jumped out of bed because
(A) he heard a faint sound.
(B) he saw someone coming towards

him.
(C) acold breeze blew past his face.
(D)

he was pushed by someone.
Which one of the following did the
author do first ?
(A) Closing the door.
(B) Climbing into bed.

(C) Rolling himself into blankets.
(D) None of these

Give Synonym for the following word :
Pride

(A) Humour
(C) Dignity

43.

44.

(B) Hate
(D) Cowardice

45. Give Antonym for the following word :
Keen
(A) Dull (B) Alert
(C) Humble (D) Eager

46.

47.

- 48.

49.

feu U foeredt ° 9 HEfid wee 1 =T

(D) =&
Select the related word from the given

alternatives :
Dog : Rabbies : : Mosquito : ?

(A) Plague (B) Death

(C) Malaria (D) Stings

3G 31 1 I hITT ST HHE o STeh! Teqi
T Ao & W |

(A) T (udwfer) (B) IRl

(©) (D) el

Choose the word which is least like the
other words in the group :

(A) Nun (B) Knight
(C) Monk (D) Priest
fepeft ffeard e w9 § COMPUTRONE

%! fef@l S 8 PMOCTUENOR | 3&ft
%< WINT § ADVANTAGES &1 #1 foran

S ¢

In a certain code language,
COMPUTRONE 1S written  as
PMOCTUENOR. How is
ADVANTAGES written in that code ?
(A) SEGATNAVAD

(B) AVDATNSEGA
(C) AVDATASEGN
(D) NAVDASEGAT
T JTCHT A e Afeet § e, “qrer At %
ufd 1 981 T8 g7 7 |7 98 Aigen 39

3TTeH! § fore TR TEfa B ¢
(A) T (B)
© (D) &

A man said to a lady, “Your mother’s
husband’s sister is my aunt (Bua).” How
is the lady related to the man ?

(A) Daughter (B) Grand daughter
(C) Mother (D) Sister

GAMMA21
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50.

S1.

52.

53.

GAMMA21

Ifg 18 HEA, 2005 I IEHAR 7, dl
18 ®a, 2007 i A &1 e g 2

(A) TeEr (B) HHaR

(C) HITTAR (D) dgar

If 18" February, 2005 falls on Friday
then what will be the day on 18"
February, 2007 ?

(A) Sunday (B) Monday
(C) Tuesday (D) Wednesday

R °h 35 TUH T 1 T8 1 g FFe 3T
Tt frefert <hr wamee offmn s foRm 7 2
(A) T=d (B) deTTH

(C) TSI (D) WHATH
Name the state of India which became
the first state to provide health insurance
for all its residents.

(A) Gujarat (B) Telangana
(C) Rajasthan (D) Karnataka

IMEA.IE. 1 22 JeTws, 2021 & For 1A=
T I U IS ST St T AT o fea s ¢

(A) (B) fersm ,
(C) (D) ETH A HIE T

Which payment system has been barred
by RBI from issuing new cards from
22 July, 2021 ?

(A) Mastercard (B) Visa

(C) Rupay (D) None of these

TN & TR T ANTEhdT 9¢H & 3e¢3q I

T H foheeh G HIETsa U0 “THEd AT

& TeraT I 2

(A) TETE U YRR S0 AT

(B) & HATTH

(C) Y HoATer

(D) 9 | B T

To raise awareness about Yoga, Mobile

app ‘“Namaste Yoga” launched by

whom in India?

(A) Ministry of Health and Family
Welfare

(B) Ministry of Home Affairs

(C) Ministry of Ayush

(D) None of these

54.

5S.

56.

57.

Rl GutaTfereE 2021 H feREshl WRAH
T o Sl —aTEeh oh ToTQ HTT fohal /T 2
(A) BREAHS (B) ARG eI
(C) g (D) 3fia fig
Who has been named the flag-bearer of
the Indian contingent in the Tokyo
Paralympics 20217

(A) Kashish Lakra

(B) Mariyappan Thangavelu

(C) Devendra Jhajharia

(D) Ajeet Singh

2021-22 % GE FEIE (JeTs-Fder) o
g ayfg @ hi A TR E ?

What is the interest rate on Sukanya
Samriddhi Accounts for second quarter
(July-Sept) 0f 2021-22 ?

(A) 7.6% (B) 6.6%
(C) 8.6% (D) 9.6%
WA BT 3 HIHR A 319 Teh BRI o

1 T Srefige S o A I
W@ |

(A) Uveri T s=A(B)  TRihT =
(C) Qe wIgehIvT (D)  feren aTeM

The Indian Army has named one of its
firing ranges in Kashmir after
Bollywood actress .

(A) Aishwarya Rai Bachchan

(B) Priyanka Chopra

(C) Deepika Padukone

(D) Vidya Balan

9 2021 % TTQ fore o= 1 qTEURE forea
T gy yrfcrumeft grEard i vl § gey
SR E ?

(A) =4 (B) 3Z.TuH.

(C) 9¥rd (D) SMUE

Which country’s passport has topped in
the most powerful passport in the world
for the year 2021 ?
(A) Russia

(C) India

(B) U.S.
(D) Japan

prepp



www.prepp.in

S8.

59.

60.

61.

62.

qfierarg foum a9 2021 1 g9 fR|
Tifereh gt 3 Sfiar 2

(A) S .UHF. B) .3

(C) TARBTZ WS, (D) T.uH.%
Tamil Nadu Assembly Election 2021
was won by which political party ?

(A) DMK (B) BIP

(C) AIADMK (D) PMK

Jfyges wMfd F=hieh 2021 H SH &1 ¢
MR ?

(A) ST (B) =Sfcivg

(C) ImEEAE (D) MW

Global Peace Index 2021 topped by
which country ?

(A) Denmark (B) New Zealand
(C) Iceland (D) Portugal

A W T WHR 7 gEES efea
FRIHIHTT ATSHT <l AR fhaT & 2

(A) M (B) 3Ty W
(©) dfiemg (D) fuew

Which state government implements
Chief Minister Dalit Empowerment
Programme ?

(A) Telangana
(C) Tamil Nadu (D) Bihar

1o fra gu st “gstgm” iy &
IH Y TET 12 2

(A) ST (B) YA

(C) Ut (D) sficient

Which of the following countries is known
as the land of “Thunder Dragon™ ?

(A) Japan (B) Bhutan

(C) Nepal (D) Srilanka
frame fora gor it T 2 2

(A) TWR (B) SATRY

(C) W3 (D) THH U HIE T

Riyadh is the capital of which country ?
(A) Myanmar (B) Bangladesh
(C) Saudi Arabia (D) None of these

(B) Andhra Pradesh

_9_

63.

64.

6S.

. 66.

67.

&A% I Y T wid 1 = § @ B
TS Gl BT R ?

(A) Tafesn (B) T3

(C) waeH™ (D) A

Which of the following is the smallest
state (in Area) of India ?

(A) Sikkim (B) Goa

(C) Meghalaya (D) Mizoram
TS G o I §U USR] 1 HRIHTA fohar
a9 HI BT ?

(A) 29 (B) 4ad

(C) 6o (D) 8=

What is the tenure of the elected
members of Rajya Sabha?

(A) 2 Years (B) 4 Years
(C) 6 Years (D) 8 Years
forva o e TP feaw e TR ST B 2
(A) 203K (B) 24 3RS
(C) 27Es (D) 30 Es

When is the United Nations Day
celebrated across the world ?

(A) October20 (B) October 24
(C) November 27 (D) November 30

FAET =TT el (a8 2
(A) Tan (B) ©&
(C) T=eEn (D) fermm

The International Court of Justice is
located at

(A) Geneva (B) The Hague
(C) Amsterdam (D) Vienna

fora wfrg @awRl Hfdeemd e & —
(A) oA H (B) T YW H
(C) aTfsamd (D) HEWgH
The world famous ‘Khajuraho’ sculptures
are located in
(A) Gujarat
(B) Madhya Pradesh
(C) Odisha
(D) Maharashtra

GAMMA21
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68. TfHg TIHIIEN 39 348 8 frg Tsa 9

g B 2
(A) A (B) faEr
(C) TSI (D) 3nfesm

The famous Nabakalebara festival
belongs to which of the following states?

(A) Kerala
(B) Bihar

(C) Rajasthan
(D) Odisha

69. T A o vk eRaE MM TE & 7
(A) Tied
(B) rEgIoH
(C) hIsH SIEHATHATES
(D) FARFI3TRIBTSH (CFC)

Which of the following is not a green
house gas ?

(A) Methane

(B) Nitrogen

(C) Carbon dioxide

(D) Chlorofluorocarbon (CFC)

70. 379 QEhR ferafere fow wma & 2
(A) 3TaehRTelA fefa | fafse gan o fete
(B) g H diar & feu
(C) ©d % & H 3Ihy Ve o foTu
(D) fafsrs Turet Tanati & ferw
Arjuna Award is given for
(A) Exceptional service in emergency
(B) Bravery on battlefield

(C) Outstanding performance in sports

(D) Exceptional social services

GAMMA21

e« Fr=forRaa et eryEe ufew e 34
T 3MTRE FEET (71-75) % ST AT -

AT UM WIS B IOH 3R TR

R P S L
. SHT AT T4l & | AT e o qcd § I8 4G
for ferelt S=i-gw dum WA-wWUE & LT W

o7 | TS 38 TE hEd O | 39k WS Iht
e, enfifer stem qem = IUATRET HT
3T &Y &l o7 TS 3k HeTeRuT 3R S8R
HT | 38 WA I i T TWH 6 &I
HRUT g B fob g SIS o7 37T 398 <31 &
ot 3R S o o wftrfera 9, =18 o ot &
71 T, T E A1 AR 81 e fafie aueri & |

| 3 WY F AR U w3 s wi
1 gEefid TEE TG o | A WRd %

NI & &9 § 89 3TN SHdIEehdT 3 aH-
FrRuerar 1 9 33T @ B | B9 9 8 Hehd foh

- 34 92 <Y H AT AT S & U g9 379

wfaffer & 97 epd 9 A1 HIE T ST AR H
fen Sran @t gn gk faeg Imar & 331 whd
2 3R 31U T AT deh Sh gl o Hehd
g |

|71, ST T S eqevii w1eg i 3

3_
(A) IHBFEIAF (B) IHHEE
(C) M HEA (D) I H g

72. I T H O H &7 §9 § ST 8

5

(A) STISITEY | shifceprie shi oy yftreer
o |

(B) TG  TuN H FHWehi &1 &l
IS T |

(C) T[T <31 <ht oI haft off |

(D) TETCHT e & e H TP G
HaT o |

-10- A
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73. 39T TS o TG hT e T AT 7
(A) Tfties TEATAT 3R HeeTI8R i
ST &1 |
(B) YR T@aFal dum i fowiwan
AT |
(C) TS =T = gy fFmT |
(D) SHATEhal & B §aFT |

74.  gufRuerdT ¥ TRYIT B
(A) |eft et &1 3T
(B) o T g&q& T AT
(C) o <ht 3T
(D) forslt oft et =1 = AT

75. %8 HET A€ T g TWdIdr 9um™
KEGIEER I

(A) I TECH Tieft &% HesadgR 3R

T bl T 1eh AT |
(B) 3o forg 3R geerwH affifera gu o |
(C) 98 Taaar-HfR &1 e T |
(D) 3o gy} Srfe, o, &t & ot A
T fofarm o |

Few : Frforfga e w1 eamgdes dfew e 3d
TR 3MHTRA F¥T (76-80) o IR AT :
fagmar-taa 39 g 1 R 2 999 |
3IGeh! BRI T FEH T | 39 THG I
FEIUE 1 T Y T TRA gRiehl 4 Iq
Tove o sranve’ sl sheuT 6t oft | IR I8 HedT
T Shod T a1 off, Tegd wremed oft oft wRfifer wra-
T 4 S = o &9 # gfed g1 &, 36 1 Hid
A @G ] | T A T, TG B IRR o
3T 2 | gEH | 398 Wed, 3TTehyeh Ud AATquy
w9 gi¥ § 3= F3 ¢ 7 QA T HAgd 3
AHa-Hied | Afecshii 4 $8h ®U-Hicd

I o foTe fepa 21 stsreall o1 forerm fopan 8 31k
30 Ol -ty @ Tt i | w3 & foe
3 h1ed GfeedT @ el § |

arfgcasnfert 3 off g6t we o qrest

- o1 forae htd 5T 3 Wi o feaur fpn 2 |
T SR g @ ferme femam ST At wie -3

! Ueh Sfeet I § 3ufia fepan S gepan 2 | Tt
bR I o Teh Jol H QY 37 M T AW I=
TTEHST ITdT 8, SehR &l JTdT & IHT TR -
IR & fafire sradl § @ afg ®18 ueh aree o
forTe Siar 8 A1 3&eh gHTE ER IR W gl @ |
T &1 &, TG S8 hIH e ATa[eh el & T
B S ¥ I8 el agF= Thueh 3e%g B
Thl §, SATh h! Jog &l Hehdll & | Th 3T
forepd B o E TR gfusd &1, 98 STk
Bl 9T — g foamefig 2 |

e foReht T 6 IS ol FGeTeht 3T T
T A1 g1 SRR I3 3l i FaTe Ud Saferd
&9 F Tshamsiict ST ST dehal & df IR <k faehd

3T % TIM W AT A 37 et IR <Rl
| T TS T &1 A8 ST ST Fehdl ? Yol -

fafercarent = 39 gTRIcE AN ol SR o
TUT FR-R STeaEm™ qUiEneT % 3R 3T -
JIRYYT o &3 H Toheldl 9TH bl | 3T iqur
%1 3e99 ? Fop agsa dafy ue = o | 7@T T
eTaed g foh AHa-IRR & fopeft o 3777 1 3
JehT Tk &1 hidl, 58 TR & fordl o1 &
34 weffeprd T gran | Wit 61 Th o | & Wh-at
T T STATEIH &, A SFT-TIARI § &
S —TIeTuT 3TTET B | 3T bl 1o Tafehedeh
e, Ihd, 3d, HHS N T HI TARTY

- HhAATEh B &1 7 | AT e

T Hieassh o Afdich TR & I&: aff 370 &

| IR T T |

A _1A1_
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76. HTE ! 1Y 1 Y &Y AT A1 8 FiTh
(A) WHE-31 # S ufed g 2, od gfy
Fafed g g |
(B) T ¥ &1 Rk 2 |
(C) T Ik TS & |
(D) g wHa & faarar K o= gie 2 |

77. SR gTY T JULTHA 3TTE BT &
(A) WTfEcIsRr |
(B) W=l |
(C) wioa-Tafercass
(D) amifi d

78. WG YR I TG el T & FiTeh

(A) WMHE IR g¢ WEURRI 3R Ta=Ei
g fafifa? |

(B) |4 IR =1 <6t Wit ATavaw gl
2

(C) 319ad Tt g1 & fohd B & IKR
e iR g1 ST 8 |

(D) WHd SRR foerar shi g i e
FlAZ |

79. vI-fafrcdsnl g0 WeR HI T

SrRrearqut AT oft

(A) STl IR o T o ey TS

(B) WHE-IXR I Jog § F=H

(C) IT-YINIY gRI IR sl T
EEIC)

(D) v -Tafercan 1 maa wenfuq e

80. 3¢ H Wk ‘TR’ wreg w1 w9 B
(A) g (B) W&

(C) AMd (D) A
GAMMA21

e (81-85) : Fritepa antem o Eive o1 fafie
a1 o S Icred (fuferam e °) ewrten men 2 |

FHHT 7T o 3T Fferfiga w3t & s dfse

' Directions (81-85) : The following graph
. shows the production of cement in Million

Tonnes during the various years. Study the same

- and answer the following questions correctly :

Hitie 1 e
(Tuferrm = @)
Production of Cement
(In Million tonnes)
100

40

2009-

o O =
AN AN AN AN A

81. 3cled 3TIehdd & deh 39 IY 92T :

The production fell down to the
maximum extent in the year :

(A) 2012-13 (B) 2015-16
(C) 2016-17 (D) 2019-20

82. 3cdTed § fumet a¥ Y qo T A A

¥ N s g B |

The increase in production was
maximum during the year over
its previous year.

(A) 2013-14
(C) 2014-15

(B) 2017-18
(D) 2018-19

83. 9y 9 99 A 3NEd IcTed AT

The average production during the first
three years was :

(A) 44 MT
(C) 48 MT

(B) 46 MT
(D) 50 MT
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84.

8s.

Hitie 1 3Tfeehad IcaTed o1 gt 39 a1y ¢
The maximum production of cement was
noted in the year :
(A) 2013-14
(C) 2018-19

T 2011-12 % GRH 3ca1eA ghg femra
st ad 6t qeT 8 o

The percentage increase in production
during 2011-12 over its previous year was :
(A) 31.8%

(B) 36%

(C) 37.5%

(D) T8 ¥ wig &l / None of these

(B) 2014-15
(D) 2017-18

T (86-90) : Tezm T 71T U A% X % AT
12013 8 2019 & &4 hUS 793 H AT 2 |
MY 77U T 9 31T 99 o Ie |

Directions (86-90) : The following graph
shows the import of a certain commodity X in
Crore Rupees between 2013 and 2019.

The questions are based on the shown figure.
Answer these questions.

86.

A X & JA=E 2000

Import of X —

g 1300

S 1200 1200

g ][]

e 900

@ 700

%
T oo = ® 2 >
o < A b = )
= = = = = S
[q\] [q\] [q\] [q\] [q\] [q\]

¥ 2014-15 F 2015-16 % SH X
31T ¥ gfg e | —

Percent increase in import of X from
2014-15 to 2015-16 is

(A) 43.0% (B) 333%

(C) 28.8% (D) 25.0%

87.

88.

89.

90.

13-

Tt af o foTg o X Iy X % 3T i
gig o1 3iHa IR H) 3
Average of the increase in import of

X year by year for all the years is
(in X crore)

(A) 260
(B) 280
(C) 325
(D) 0 W IS T2l / None of these

forma fepam ot deh X =1 31TTE, X @ 30Eq
T | AT o ?

For how many years, there was more
import of X, than the average import of
X?

(A) 4 B) 3
©) 2 D) 1
X o 3TEd 7T § A0 A= 3T X

3Ed 3T ¥ A 3T o I bl 3T
3_

The difference of the numbers of years in
which import of X is less than the
average import and in which import of X
is more than the average import is

(A) 3 (B) 2
© 1 (D) 0

TN 2018-19 SR X o ST § Fasra
gfg Tt Il < X o ST % IHeh
Y fpafia ?

The percentage increase in import of X

during 2018-19 over its Average of
Import of X of all years ?

(A) 50.9% (B) 63.5%
(©) 70.6% (D) 64.38%
GAMMA21
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TS (91-95) : < 778 aforent /ARl 1 SAYEH
I hL T e feu e i % I

Directions (91-95) : Study the table and
answer the given questions.

T arfetert o =R e A, B, C 91 D 9=TE &
fafir= fert W agati i fosht @ 2 -

In the following table four persons A, B, C and
D are selling items on different days of the

week.

A| B | C | D
@mar/ Monday | 40 | 45 | 25 | 20
et/ Tuesday | 35 | 50 | 48 | 26
ERAR/ Friday 25 | 28 | 15 | 41
¥R/ Saturday | 30 | 40 | 45 | 40
91. HICTIR 1 A gRI st T8 %] aUT IHER

%I C G =t 778 S 3hT STUT AT AT 7

What was the ratio of item sold by A on
Tuesday & items sold by C on Saturday ?

(A) 9:7 B) 7:9

(C) 6:5 (D) 8:7
92. TR ! D gRI Sl T8 i, ITER i C
TR S=ft 7T &g b1 e i off ¢
Items sold by D on Monday is what
percent of item sold by C on Saturday ?
(A) 42.60% (B) 49.55%
(C) 44.44% (D) 32.70%

GAMMA21
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93.

94.

9s.

B, C AT D g shH3T: HHAR, HITAIR 9T
AT =Bl Sl 778 S 3T T STEd TS ?
What is the average of the items sold by

B, C and D on Monday, Tuesday and
Saturday respectively ?

(A) 4433
(B) 42.50
(C) 46.66
(D) 45.90

TeTe o aeft =m feTi § D awg i fesht it
T ° B a%q i forshl # fopae wferema
g 3Trs 7

Percent increase for selling of items B
compare with Selling of items D in all
four days of weeks is

(A) 29.1%
(B) 19.5%
(C) 183%
(D) 283%

i B A T g B sied sk
YFRAR I S T TEGIT Al 3T 6 T
fepaT ST R ?

What is the difference between the

average of items selling on Monday to
average items selling on Friday ?

(A) 105
(B) 7.40
(C) 525
(D) 6.45

Prepp
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TG (96-100) : € 77 Trfetent /ARt 61 SIYE®  § 98, 201011/ 2016-17 T 37afey o 7e 3¢
AT HL a1 o feu ge i & IS 1 e IcdTed fehaa 2 ?

Directions (96-100) : Study the table and
answer the given questions.

TR § 2010-2017 % T BHAT T SATEH : (C) 353.963F (D) 253.862H

(A) 300.003F  (B) 293.86

Production of Crops in India during What is the average yield of potatoes

2010-2017 ) during the period 2010-11 to 2016-17 ?
(e ﬁ) / (In tonnes)
(A) 300.00 tonnes (B) 293.86 tonnes
qi/ | N/ |wew| oo |(we /| S/ | Set /| e/
Year |Wheat| / / | Maize| Barley| Pulses | Potatoes (C) 353.96 tonnes (D) 253.86 tonnes
Rice | Bajra

2010-11| 6121 874| 565 | 80 | 300 | 415| 210 .
2011-12| 7010| 964| 655 | 60 | 312 | 417 | 220 99, 2016-17 % LI 30 & foht HE b IcATEH

2012-13| 7112| 960| 780 | 55 | 210 | 680 | 222 i freset & ot e 3 fire ot 1 7
2013-14| 7056 | 985| 1110| 40 | 200 | 310 | 245

2014-15| 6896 | 716 1160| 90 | 216 | 370 | 315 (A) S (B) SA

2015-16| 6912| 826 1450| 110 | 160 | 300 | 400

2016-17| 7617| 812| 1460| 75 | 216 | 260 | 445 (C) =&« (D) 3L

During 2016-17, which of the following
crops showed decrease in production in

96. g 3cuTed H fopd o o A firrere fewms
UK

Wheat production started showing a

comparison to the previous year ?

. (A) Barley (B) Bajra
slump during :

(A) 2013-14  (B) 2015-16 (€ Rice (D) Potatoes
(C) 201415 (D) 2016-17

‘ . 100. 3] 1 IATGH 2015-16 H 2010-11 =T
97. ¥ ¥ fopd wud 4 2013-2017 & 7%

, e fepaT e R 7
IATE | AR g ot 1 TS 7
The production of potatoes in 2015-16 is

(A) TR (B) it . . .

] approximately how many times that in
(C) @ (D) T 2010-11?
Which of the following crops showed the (A) 1.82
continuous increase in production during
2013-2017 ? , (B) 2.00
(A) Maize (B) Barley (©) 2.10
(C) Pulses (D) Bajra (D) 1.90

A -15- GAMMA21
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UPSSSC PET 24 August 2021 Shift 2 Answer Keys

Series A Series B Series C Series D Series E Series F Series G Series H

Qs No

10
1
12
13
14
15
16
17
18
19
20
21

22
23
24
25
26
27
28
29
30
31

32
33
34
35
36
37

38
39

40

D*

4

42

43

44

45

46

47

48

49

50

51

52

53

B*

54
55

56

57

58

59
60
61

62
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Series A Series B Series C Series D Series E Series F Series G Series H

Qs No

63

64
65

66

c*

67

68
69
70
71

72
73
74
75
76
77
78
79
80
81

82
83
84
85
86
87

88
89
90
91

92
93
94
95

96
97

98
99
100
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